
TDC Odd Semester Exam., 2018

*

ECONOMICS

(Honours )

(3rd Semester )

Course No. ECOH-303

Development of Indian Economy.
(since Independence) ] / 1

Full Marks:50
Pass Marks : 17

Time: 2 hours

The figures in the margin indicate full marks

for the questions

Answerfive questions, taking one from each Unit

UNIT-I

1 (a) Explain the important demographic
features of India as per the Population
Census of 2011.

(b) Mention three important features of the(b)
National Population Policy of 2000. 3

2 (a) State and explain the problems of
population explosion in India.
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2
of

(b) Discuss the problems and prospects
3b)

water resources in Assam.

UNIT-II

3. (a) What are the main causes of slow

growth of national income in India

during the planning period?

(b) State and explain the structural

changes that took place in India
since 1991.

4. (a) What do you mean by occupational
pattern?

b)The occupational distribution of the
working force reflects the level of
development of an economy." Explainwith reference toIndian economy.

UNIT--Ill
5. (a) Discuss the roleand importance ofagricuture in the economic developmentof India.

6b State in brief two institutional an
two technological problems

facedand
by

agricultural sector of the
economy by
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fal What are different types of credit

required by Indian farmers?
3

b) Distinguish between institutional and

non-institutional sources of credit in

India.
3

Mention the import and sources of rural

credit in India. NI
UNIT-IV

a Discuss the growth of industries in

India in the sixties. 6

ofb Mention the causes of stagnationn

industrial sector in India in 1960's.

3. (a Analyze the recent problems of public
sector undertakings in India.

(b) Write short notes on the following:

2+2+2-6

MRTP Act

(ii) FERA

(i) FEMA

UNIT-V

a) Distinguish between disguised and
seasonal unemployment found inIndian agriculture

4
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4)

arkedKec"Post-1991 period is marl
(th) growth in India."

view? Explain.

Do you
$Supp

vement10. (a) What is trade union move

(b) What are the problems of

movement in India? trade

() Explain in brief the probleme
oflabour in India.
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